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® The decoding part of Quantum-Block

® Some conjectures about the data set
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First Section
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® The decoding part of Quantum-Block
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My circuit
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® Encoding Part :cir.rylayer(input)+-cir.rzlayer(input*input).
® Traning Part: Three layers of U Gate(3*2*num_qubit parameters).

® Decoding Part : Expected tanh value for z-axis projection.(Using nn.Tanh() as decoing
function)
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Training Figure
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From the figure ,the best epoch set is 6.
Poor Acc and Poor score result.
Because | oberseve the output of QuantumPart is basically less than 10 which is too small.ln

other words, it is too slow to grow from the expectation of [-1,1] to the output in the range R.
® My current idea is to change the decoding part, because this part is the part that maps the

data from [-1, 1] to R.
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